6-4 BEBROWMDO

ROEM % T RTH-T 2 K f(2) 2RO X,
f(2)=6, f(0)=2, f'(1)=4

{Gx)' s tie e ewsc (ax0)
%t%-‘?“ <t

l
][(z)c(7 Ly, ')E(l):éﬁ D
s4a26te =6  goth =T
Jfl(‘) =2 1 seffie Q=1 62, c= 2

=9

(1) BESCF(x) =25°+ 32— 82 1ZO\VT, x=—2 (2B MR E KD .
@) 2REEK S(x) WROZMEHETLE, f(0) #RDE,
fy==3, f)=-1, f1(0)=3
3) 2RBEEK S(0) = x*taxtb A2 () =(x+ 1S (2) +6 kT LE, EKa, bO

4;@%2&@& 2 ©, )t(d) = (o ﬁﬁc wc(&fﬁ))
) j ()= é@t +H% ~d (
il P
(+) =64t )L(l);»g D Athtc--3
=24 -2 -b (
- % Tl 3atf=
1
T0-35  fi=3

2. =3
A v )t 0 9473 ~T

--t. ST

7t(9t) gt -2

—

S

-
-

®) }(@t %thﬂf A !ir—(‘ 2 (A 9y

(
Ty =224 (a4 0ne )= [ae) Y 22ta) t

a4 9002 = 9p %y (@42)2 + at b
& oA Golavn a/[“é%l“(r 1 FIny

205 0t2  A=2 6=4

2f -atéb A=2. =¢
(3] (1) 2XBEEK f(0) 23 77(0) =1, f/(1)=2%WrTeLE, [/(2 DEERDL,

(2) 3RBEEK f(x) =x’+ax®+bx+c W (x—2)f'(x) =3f(x) B/~ TELX, a, b, cD
Bz KD &,

) f@)za;ﬂ@ﬁc [ﬂ@)fﬂo”f‘ fﬁa)=2ﬁﬁf L
Jo-l 9§21 fow-21 04f-2

(

{2 90+]=2 . A= 3

(‘ '}( 2¢(=3 ]sz =3
V}M): ifl 2) J( ' ,_L-—/),/_—'/

&) jt/m: Il 2a %t £ ae B S R ATAT D
(12)(3q %209+ 6.) =3 (L raz™ fa<C )
2t (20627 (frfa)ama = 32 30273 fat 3¢
=l & g lq—;vzo/(‘ﬁe‘,f-—f &6 2" .
nh=3a, 6%&:3’5,'952%

Oo=—b - L=(2- = ~ 3

1_




6-4 BEBROWMDO

x DER f(x) WEIZ f(x) + 2% (x) = k2’ + R+ 1 22T L X, ROBMWVIZEZ L,
72720, RIZ0OTRVWERTH B,
1) BXfx) 2xDnXALTHLE, nDEZKRD L,

2) ERX f(x) 2RD &,

() #TO q,f.Zﬁa;‘%ZW 3
W= AR P S RN ECY) /égtﬂ_ﬂuf‘k’”b’ﬁ&
NZ| arz 7”(1) 9 (Vb\)?lf\i&\ Tk anh, ELJL(QL) |
A\t 0 d g ot iz Xl @ Nt

2 hel=3. h=2

) 7t(70 9 2 ’k;\( el )E(?t) < ﬂazf 69& C (6{=€ 0)
fl()t) = 0+ Iﬁ ZA APy

(ﬁsﬁﬁﬁc) JrlQ(ZW ﬂ@ = %‘13* fﬂ + |
Jaactlpd ) fatc = £ Ea & |
é“ﬁf\\‘eﬂ'!rl:/;yt)fo\cz.

9290 =k ,W&cO . 6¢[°Q. (=

—
>

[2 ]

Joy- -8 14

BN S E BICHIEE 49 m/s THIT LT o NMED t WEOE X h ik
h=49t—4.9¢t* (m) TE 26015, ZOEHIZOVTRDEDERD L, /272U,
vm/s IME v m 2EKRT B,

1) 188N»H6 2HRETOFEIEDRI
2) 2MEOBREDZEX

D g (1847

et s 7 2 34
2.~ | B =
() f_/_/l B ‘
d}& - ‘fq)~.? 49?{_
= 44 - 96K
+=2 2
A -9.8x9 = 29 4

= —

fo-d0” a((t42)=0

( —
prda’=0 QR gt b

z




